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C 1. I takes IOO m to stop a 5000 kg car initially moving at 25 0 m/s. Under the same
conditions, how far would it take a car traveling 50.0 m/s to stop? HINT 1: WORK is = qw
EQUAL to KINETIC ENERGY! HINT 2: What is changing. and by what factor?
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C". Consider this figure. A cart starts at point A with a speed of 4.0 m/s. If the cart comes to
Lastatpoint “e.” what is the height at “e?”

"3? t at points A and E. and how are these totals related? »
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Consider the figure in problem #2. A cart starts at point A with a* F4 m 's. Which
H"‘ "F'! : ‘. of the following statements best describes the cart’s energy at gnint (€)? (Let the gro d

be h=0.) A,_‘.
TE: ™M s\‘! a. At point (c).M dKE=0. ﬂl point (¢), PE> 0 and KE = 0, KE -"LM\,
:ml \& Al point (c), P ﬁd KE > 0. @u point (¢), PE > 0 and KE > 0,
B gom)[g 0 L‘I‘\- depends on the mass of the cart. KE- mv 70
m
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4. Which m“thea.e statements is/are true? HINT: What does it mean to be conservative? v"'" =0
Conservative forces require contact between 2 objects. &
“! Field forces conserve energy. * L. e

at
[11. &anon 15 a conservative force. 2 are oﬂl a'

IV, Y Conservative forces are path- dependenl 10
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2 mﬂ Quiz :ll:yQiuartor 2
Work, Energy, and Momentum

A spring-loaded gun shoots a 0.020 kg steel ball. To load the gun, one compresses the
spring by 0.030 m; the spring has a spring constant of 250 N/m. What 1s the initial speed

of the steel ball, just after leaving the gun? HINT: Potential energy is immediately

cony to kinetic ener: hen usine a spring,

- a,8.2 m/s 0.15ms  cllmis d 15m/s
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> 6. A father pushes his child on a swing. He pu«heb with a force of 30N for a sl‘rretf@
How much work did the father do?
a. 15joules b, 0.07 joules  ¢. 120 joules @:Ojnuie:. v 3
W=Fd 5 W=3oN:Am=&0Y

7. A 10-kg kid comes duwn a slide. The slide is 3 meters high and 5 meters long. The slide
also has a frictional force of 10 N that acts along the entire length of the slide. How fast is
& the kid gmng when he reaches the bottom? HINT 1: What is the total unt of
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8. A crate moves 10m to the right on a horizontal surface as a woman pulls on

N force, Rank the situations shown be!o acu)rdl@g, to the work @by her force, eglisl -S
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Physics
Quiz #1- Quarter 2
é Work, Energy, and Momentum
- -h’ =¥in an elastic collision, an object with mass 3kg collides with an object of mass Skg. The
?. - ? nitial velocities of both are 12m/s and 25m/s respectively. If the final velocity of the first
A J object is 20m/'s, what is the {inal velocity of the second? HINT 1: Assume that all
’ ) . W i s f £
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-D!l'l. Which of these is the basic 51 unit for work? HINT: Think about the formula for
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@nly momentum is conserved

b. only energy is conserved AW“%&

¢. both energy and momenium are conserved

d. neither energy or momentum are conserved cbnw\!EB\.

12. Which of these bodies has rh What is tlﬂormuln for
momentum? e eV
L Mass 3M and speed V. = 3
I Mass M and speed 4y * 4

11, Mass 3M and speed 2V o
IV.  Mass 2M and speed 3V = bv

a & 111 c. IV alone d. Land 11 e. 11 alone
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Physics
Quiz #1- Quarter 2
Work, Energy, and Momentum

Formulas:
1. W=Fdcosb (Work = Force x Distance x cosf)

2. KE= imvz (Kinetic Energy = ' x mass x veloeity squared)

3. PE = mgh (Potential energy = mass x gravity x height)

4. Elastic KE =_>mv? (for springs)

5. BElastic PE= ikxz (for springs) (k = spring constant; x = displacement)
6. p =mv (momentum = mass x velocity)

7. P = py (initial momentum = final momentum)



